C12-4.0 - Trigonometry Review
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(-34) i s Iy A
T 7 Q\
4 2
! . -
T
—| 4 2_7T, T [ 0, estp x
1 2O 0 — , >
V3 r Principal Axis 0,21
Bowtie
SOH - CAH - TOA CHO - SHA - CAO SYR-CXR-TYX /
0 A 0 “ T ¢
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sin6 0 cosB A tan6 0
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S flips with C C flips with S T flips with T Ostp = T — 6, \ 2nd | 1st
O, =m— gstp estp =0,
6, = sin™'(+ 2) tanf = sind = cos® Osep = + 6r Osep = 21 — 6,
H cosf sin6 6r= estp — 1,/ 3rd 4th 91‘ = 2m — Qstp
Only inverse positives = 8, III 1v
Unit Circle (0,1) x2 +y? =r? Ocot = Ostp £ 21
General Solution: 6y = Osiptp™,n € 1
1 r = Hyp
-1,0 1,0 .
((}’;)' X (1o y = Opp Period p =|27”| (sin,cos) p= % (tan)
0.1 x = Adj Arc Length Sector Area lrev =2m
i wil g—y a=0r A=ﬂ A—QTZ W—g
sinf =y cosf = x tanf = p 5 == =
Sine Graph y = sinx Cosine Graph y = cosx y = —sinx Yy = —cosx
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y=asin(b(x —c)) +d

GRAPH tan(x)

Tan is Zero when sin is zero
Tan is und when cos is zero
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C12 -4.0 - Trig Checklist

Calculator: Radians/Degrees

LOGIC

Check Answer
B
% 180°
Arc Length/Sector Area
Radians .%e Degrees a=or | A ar. Angles
y 180° 2 Ratios
T Triangles
Unit Circle
PO . . Algebra
Special Triangles o ( ) Rationalize g. _
Similar Triangles Period m = 2x
ASTC/QLILIILIV Factoringm = sinx
Unit Circler =1 ix\/_i _\/_Z NPV's
x> +y?=1 x,y) I\ 2 V2 2 General Solution
Arc/Area
Angular Velocity
Mark 0
Mark w and 2n
Domain
#r 0,21 0<6<360
# 0<6<?2m
#<O<H#
Change n & 2m to have denominator
you are working with or a Decimal
+0, gstpr eprir 0y, Ocot egen sind, cosH, tand Range

+6: Counter Clockwise
—0: Clockwise

Ostp: Arrows
0,:0<6<90

Ocor =0 21

Ogen =0 +tpn,n €l

0 < 6y; < 360

SOH-CAH-TOA

cscl, secl, cotd

CHO-SHA-CAO

—-1<sinf <1

—1<cosf <1

Solving Equations

in2x = —
Sinzx 2

let m = 2x

sin® x — sinx =0

let m = sinx

Linear/Angular Velocity

lrev =2m

knackacademics.com PreCalc12PC - 604.505.2867 Page 2



C12-4.0 - Trig Summary

S

0<0<2m

)

6m

0,2m

H
cscl = —

Pl |

ationalize
2 1

Z 22 2

kx

tand =1
cotd =1

0,2m

@@@*6 = 0,+1%,und

X% 4 y2 = 72
xZ+yr=1

sinf =y

0 = —0.24,2.89,6.03

T

T

0,2m

cotd = —

tanf = —
an y

Only inverse positives = 6,

m—0.24 =2.89
2mr — 0.24 = 6.03
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